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Y12 Pure Chapter 6—Circles

What do [ need to be able to do? Y12 — Chapler & Circks
By the end of ths ehapter you shoud be abke to: —
fey words:
* Find the midpont of & Ine segment * Line seament — a frrile part of o strag. e wilh Do dstrel
+ Fndfi of t rdcuky bec erd poris
Mleﬁmm'[m the perpe torfoake * Perpendculr bsector— 0 e wheh culs a e seamertt nlo
*  frow how to find the equation of o crck Lmqﬁpc-’lsat"ﬂf 1 .
» Sobe geomelric problems invokng stragt Ines and crckes g Tm"t,—ﬁ“hz“dﬂ‘ Louckes a curve dl. a port, maiching
* ke crck properties To sohe probeme . mﬁggr;‘mmmtmwhmam
" Sole prebiests ¥acking citks ond gk * Circumcirce — a circle touching al the verices of a tronge o
pokigon
Finding mideoint of a ne seament *» Circumcerire — Tre cenier of o trianak’s croumeick
it — X1t+Xz Yit¥z [ .
Meport = (2322, 2222 Circk properties
. . —1
Equation of a circke The argk in 6 semi circk & alwals a
r
The. equation of a crck with centre (g, b) and radis r & gl onge S
— 2 —p)2 = 72 s \
(x-a)+(y=b)?=r S~
You may be gen the equation of a crck in the form : \ ~./
x*+y?—=2ax - 2by+a*+b*-r?=0 \\H___,
I this case. you reed to complete the square for the x and y ferms to 0 tangent 1o o crce s perpendeubr
find the radus and certre of the circke to the radis at the. point of
Eg intersection
x*+y?—14x+ 16y —12=0
x?—1l4x+y*+16y—12=10
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@ -D)H-7*+(y +8)-82-12=0
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Sued et otk off Slroet bock off

The perpendcutar bsector of a chord
(x=7)72+(+8)*=7"+8"+12 vl go through the centre of the circe
(x=7)2+(y+8)?2=125 .
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Centre (7, -8) radus V125 = 5V5 / O \‘\'.
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